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MEASURE and CLASSIFY ANGLES
Vocabulary Definition Example
Name on angle with 3 POt
Ma;dlo.n on ¢he angle but the
An angle consists of two different middle letter must be the
ANGLE rays with the same endpoint conmmgon U’APlﬂ* commen evdpoind (Verior) .
ot B ZABL or £ CBA
Mﬂ‘& e
Sides ZDEF . .
'dM,'. D u\d
SIDES|of an | The rays are called the sides of an 37« N\A s E EF
ANGLE angle.
%
A VArtey, Jou mauy name an angle by
Peint s vertey (W\P‘C <g) only
VERTEX of | The endpoint is the vertex of an 8 when 1+ i vhe vertarn for
an ANGLE | angle. Hrod mgle / one angle .
e L <DEF, 2 FED
m 5 4DEG, a@eip
In <ABC, ﬁand ﬁcan be matched A . I Tre weasure of O-ng ABL s .
one to one with real numbers from O mezABC=80 - ZABC -
MEASURE of | to 180. The measure of <ABC is
an ANGLE | equal to the absolute value of the
difference between the real
numbers for E\) and % 80°
B o m = measure (degrees)




ACUTE An angle whose measure is between A LARL \S @n ot £ .
ANGLE 0° and 90°
1’
8 [3
m<ABC =90°
RIGHT . LABC is o right &
An angle that measures 90°.
ANG_E = .- & A lp \L
right angie . b
£ABL is b .
0" 2 x* £ 180°
mLABC= W7t
OBTUSE | An angle whose measure is between A ZKkBL 1S an obw d
ANGLE 90° and 180°. Yyt
141
—
c
x',—‘go' msAB(=180"
RATET £ABC \s o Sifaught £ .
> in An angle that measures 180°. ,
ANGLE ra— —— ) pal o
c # 0pPOsSITE YaMS LM
A ,Cv,k'..,;.-.?:,,..: e —— = e &
Strougqht £s. gA and B(




CONGRUENT
ANGLES

Angles with the same measure.

-
8D lbicects £ABC.

A
")
ANGLE A ray that divides an angle into two ® m4AB(= 50 ;
BISECTORS | congruent angles. ~ Mz ABD= 29
% ¢ @ meDBLE30
wme ABD =30°
m< ABL =0
If Pisin the interior of <RST, then -
the measure of <RST is equal to the n£RST = ms RSt +m ikl
sum of the measures of <RSP and meRST = 20° + 28°
<PST. o -
ADDITION
POSTULATE

If Pis in the interior of <RST, then
M<RST = m«RSP + m«PST




Selve fr x. Then Gnd Hhe measures o# the oher angles.

. 0 5+m3h+&vlal-¢
#\® mZELM=180°
180 ~125°
495
mZkLN t MLNLWN = MLkl MLEFH tMLHFG = meHFC
\OX-5 + Kxt3 = 180" 2X+2 + %X+l = 90"
WX -2=180 ax+3 =90
: 4 'T-. Af’iz- - - 773 -—2—
mX=\82 ax =97

o )

The MmLLEN=I4H5 "

MLLEN + L MEN = mLLEN
z \%9° 2010 + HX-3 = 145
45 - 56" LX t7=149

. - =9
Fea ]
. Lx =138

¥ [x=23




